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Total No. of Questions : 24

Total No. of Printed Pages : 4 Reg:i}
Part-111 :
MATHEMATICS, Paper-1(B) \)
v AEnglish version)
Time : 3 Hours] X ff&f&,&rks : 75

Note : This question paper consists of three sections A, B a&C"ﬁ;
y =

SECTION-A /7 “w 10x2=20

1. Veryshort answer type questions.

=4
i) Attempt all the questions. “;)’ i ot

(it) Each question carries TWQ marks.
VU

) 3

1.  Find the equatiomof'the straight line passing through (- 4, 5) and cutting
off equal and nion zero intercepts on the co-ordinate axes.

2. Find the nuﬁtinn of the straight line perpendicular to the line
> & =
5.;&:::3; *#.1= 0 and passing through the point (4, - 3).

\Fmd the co-ordinates of the vertex ‘€ of AABC, if its centroid is the
. origin and the vertices A, Bare (1, 1, 1) and (- 2, 4, 1) respectively.

4.  Find the angle between the planes x + 2y + 22 -5 = 0 and
3x+3y+2:-8=0.
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5. Compute

lim = ( = ﬂ)
P :[2 {ﬂ- # ﬂ}

6. 'Camput.e O
lim =1 : . Q

8.  Find the derivative of y = sin"l[——:-aii) @,&
1+x Q
9. Find Ay and dy for the 106 +3x+6 at x =10 and
Ax =008

10. Verify Rolle’s th&m&n@&hnchﬂn y=fx)=x*+4 in [-3,3].

e A -5 S ——— \‘-‘ W
Wmmu;ﬂ Bx4=20
II. Shortans E%mns
(1) IVE questions.

(it) % tion carries FOUR marks. —
$ § 3) and B(3, - 2) are two fixed points. Find the equation of the locus of

so that the area of triangle PAB is 9.

R i oo "y
When the axes are rotated
of a curve is 17x% - 16xy + 17y° =
curve.

an angle w;-thé'transfofmad&qmn
- 225. Find the original equation of the

13. Astraight line with slope 1 passes through Q(- 3, 5) and meets the straight
line x + y—6 = 0 at P Find the distance PQ.
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16.

17.
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(12)

18.

IBq

20.

” ix'i-wm an equilateral triangle with area -
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2 * &
If £, given by f{x}z{:x : 1; xzi
izl

is a continuous function on R, then find the values of k.

Find the derivative of x” from the first principle. Q’Q

A particle is moving along a line according to S=f © + 5t-1,
where S is measured in meters and ¢ is measured in . Find the

velocity and aceeleration at time #. At what t1gle twlwaﬁnn is zero ?

Determine the intervals in which f(x) %&x

¥ x € R\ {0} is strictly increasing and decreasing.

5x7=35

Attempt Iwmestmns

Each que@ ies SEVEN marks.
J!..lﬂ

Iw tions of the sides of a triangle are Tx + y-10= 0,
-@F’ﬁ =0 and x +y + 2 = 0, find the orthocentre of the triangle.

Show that the lines represented by (Ix + my)* - 3(mx - Iy)®> = 0 and
2
n

N3 (P m?)

-

Find the values of ‘%", if the lines"joining the origin to the points of
intersection of the curve 2x% - 2xy + 3y* + 2x - y—1=0and the line

x + 2y = k are mutually perpendicular.

-
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Fmd the angle between the lines, whose direction cosines are given by the
equations 3/ + m + 5n = 0 and 6mn - 2nl + 5lm = 0.

d
If y=(sinx)%*+ x°% , then ﬁnd—y

&£ 3. 12

If the tangent at any point on the curve x2 + y3 = g3 intersects

co-ordinate axes in A and B, then show that the length AB |
" aas _,wrb :

A window is in the shape of a rectangle surmounted b;@\mle If the

perimeter of the window is 20 ft , find the mﬂ%
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